Questions for Training

Q1) For the circuit shown in figure below:
I) Verify that vy = ABC..
I1)Determine the Fan-Out.
Assume Sin=25, Veesat =0.8V, Vegsa =0.2V, & Vge=0.7V.

+5V
§4I~<Dhm 2 k Ohm émhm
A 4 .
Bi4—e— D Qf
C 14— Q2 Y
1k Ohm

Q2) Show that the output transistor of the DTL gate of figure below goes
into saturation when all inputs are HIGH. Assume that hg=20,
VBE:O.7V, VBEsat.:O-8V1 & VCEsat.:O-ZV-
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Q3) Connect the output Y of the DTL gate shown in figure below to N

inputs of other similar gates. Assume that the output transistor is
saturated. Let hpe=20, Vge=0.7V, Vet =0.8V, & Vg5t =0.2V.

I) Calculate the current in the 2k<€2resistor.

I1) Calculate the current coming from each input connected to the gate.
I11) What is the Fan-Out of the gate?
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Q4) For the NAND gate shown in figure below. Determine the Fan-Out

and calculate the average power dissipated by the gate. Assume [nin=25,
VBEsat.:O-8V1 VCEsat.:O-2V1 & VBE:O.7V.
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